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L Tx(C) A v B9 A @
o Ti(C) o 1 B Wi 1.000080[  1.000080
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2oy Wax () =@ X ® + Wi 148.434 148.809
2.8 F A 3
HFH + =X ARE + B9 T Wb(g)| 161.673 162.062
hs 54 o] Jawvyge YE&Eo
o () 19.5 19.6
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A2AZHFA () 4903.7 | 4832.4 | 4802.2
Ao Vi(g/en) 2.215 | 2.183 | 2.169
WW: | 1248.0[DW: lw: | 1249.2|Di: lw: | 1398.2/DW:
DW: | 1151.8|TW: | 208.9DW: | 1135.4|TW: | 169.8[DV: 1250.3|TW: 176.4
W : 96.2 Ws:  942.9lw: 113.8 st 965.6)Ww: 147.9 Ws:  1073.9
W: 10.2; W: 11.8; W: 13.8!
g & ou = A - -
wi: [ 1302.5/DW: byw: [ 1438.3]pw: byw: [ 1410.3|DW:
DW: | 1198.6|TW: 179.5!Dw: 1309. 4|TV: | 206.3!DW: 1261.3|TW: 178.6
W : 103.9 Ws: 1019, 1|Ww: 128.9 Ws: 1103.1|Ww: 149 Ws:  1082.7
W 10. 2, W 11.7, W: 13.8,
H 1t g5 W(%) 10.2 i 11.8 i 13.8
AZA T Yd(g/cr) 2.010 | 1.952 | 1.906
o 7] = 3
o = w el e 2.069 2.003 1.925
B a1




2.300
2.290
2.280
2.270
2.260
2.250
2.240
2.230
2.220
2.210
2.200
190
180
170
160
150
140
130
120
110
100
2.090
2.080
2.070
U2 060
=
=2.050
= 2.040
~2.030
2.020
2.010
2.000
1.990
1980
1970
1960
1950
1940
1930
1920
910
1900
1890
.880
870
860
850
840
830
820
810
1800

DN NN NDMNDND NN

N

GG T T GGG O G OO GG Y

SRR
ZHA=ET =2.056
T \
Vb )
N
i
N
|
O.M.C=8.1
2.0 3.0 4.0 5.0 6.0 7.0 8.0 9.0 10.0 11.0 12.0 13.0 14.0 150 16.0
Bl
—E O IN —e—B7I3 3N

17.0



CBRA o =

Al H 3 ESE MEEHEA FHAAEA
= N2 R] (ZotA |[Zem AN e ] =en [Aod | o0 [uh=d % | 54 CBR
= =
A lzews| ™ A @ | @ | @ | @ | @ | @ed | @
T (g)
5X10 43 9163.5| 4678.4] 4485.1] 2211.29] 2.028 8.1 1.876 24
5X25 44 9331.4| 4678.4] 4653.0] 2211.29] 2.104 8.1 1.946 63
5X55 45 9530.0] 4678.4] 4851.6] 2211.29| 2.194 8.1 2.030 75
AL D A 9014.4.02
7)< M) 2}

; o
Ad A gzl
ANEEF zEg
Al oy

KS F 2320:2000




u]

F1 o

RS G G G G G G G G G

2.100
2.090
2.080
2.070
2.060
2.050
2.040
2.030
2.020
2.010
2.000

.990
.980
.970
.960
.950
.940
.930
.920
910
.900
.890
.880
.870
.860
.850
.840
.830
.820
.810
.800

@)
o
X
dH
x

ZAE=Z EX0.95
=2.056X0.95=1.953
L/ AL P
i/ yd
/ yd P
/’I A
V/,
V/ o
/ ,
V/4
BESEEEs S s £+ CBR=63.5
| g W 1
e A
—— |
= 1

20 22 24 26 28 30 32 34 36 38 40 42 44 46 48 50 52 54 56 58 60 62 64 66 68 70 72 74 76 78 80
+ZCBR



SR R
= = H “1:].' A
Al W & E36 Al 3 A :2014.4.02
R
AR E R EHES) A d & 3B
vl ol &k
T8 JL“Em‘?n)C’ 0.0 0.5 1.0 1.5 2.0 2.5 3.0 4.0 5.0 7.5 10.0
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(kg f/
=] == ]_1:
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?kg 2 0 a7.0]  126.0] 235.0 363.0] 508.0| 660.0| 960.0| 1290.0| 1858.0| 2296.0
=] == ]_
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(kg f/
=] == ]—I:
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=] == ]—I:
55 O(g%’f/* 0 1.9 5.7 11.0 17.8 2.0 35.1 54.7 8.6 122.6] 1542
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(2 DI’*IAIE+RJI)—?HI : 692.19 ¢ £ost=dl(w) : 6.8%
|2 : 577.00 g o9 (Gs) : 2.622
SIAZAZFA W, : 115,19 ¢ 28X (PI) - N.P =AM TAMUES
AXZAMES2AH : Ws=100Ws /(1004+w) : 115. 11 g
P2.0(2Zd2.0mmolMSl JIMSUES: 67.6%
1. 2IIHAXZANEQ &2H SH(XNAHEH|)
NO @ 1 NO : 2 NO : 3
WW = 1469.4 WW = 1316.3 W =
DW = 1388.3 Tw = 211.1 oW = 1244 .9 Tw = 179.7 oW = Tw =
Ww = 81.1 Ws = 177.2  Ww = 71.4 Ws = 1065.2 Ww = Ws =
W= 6.9% W= 6.7% W=
= gl 6.8%
2. HISH A8
== Z AR HSoeS EEREENEEE] = Al A o . o 2E
SEA t(min) | A28= r' S520ILm) | L/ t N L/t  (30n)/g(rs—rw) | %ICH&IZD(mm) SENTE  |EEdTE) rH |rasas SR
9:00 1 0.0170f 0.0170 136.5 136.5 11.6832 0.0040 0.0473 25 0.0020f 0.0190 26.6% 13.4%
9:01 2 0.0155[ 0.0155 139.4 69.7 8.3486 0.0040 0.0338 25 0.0020] 0.0175 24 .5% 12.4%
9:04 5 0.0130f 0.0130 144.2 28.8 5.3710 0.0040 0.0217 25 0.0020f 0.0150 21.0% 10.7%
9:14 15 0.0110f 0.0110 148. 1 9.9 3.1422 0.0040 0.0127 25 0.0020f 0.0130 18.2% 9.4%
9:29 30 0.0100f 0.0100 150.0 5.0 2.2364 0.0040 0.0091 25 0.0020f 0.0120 16.8% 8.7%
9:59 60 0.0095[ 0.0095 151.0 2.5 1.5864 0.0040 0.0064 25 0.0020] 0.0115 16.1% 8.4%
12:59 240 0.0090( 0.0090 152.0 0.6 0.7958 0.0040 0.0032 25 0.0020f 0.0110 15.4% 8.0%
8:59 1440 0.0080f 0.0080 153.9 0.1 0.3269 0.0040 0.0013 25 0.0020f 0.0100 14.0% 7.3%
HUAHAS EX (Cm) : 0.0009 1:8H 282 Z0IAl =241.0000HXI 22 0l (m) 107.59
Ws/V (g/cm) Sietol 1 & AXAIZ22A 12:2E 25O B1OA =24 1.0507 X 2 20l (mm) 10.87
b : X 2229 20l(mm) 136.84
1/(Ws/V)= 8.69 cm/g Gs/(Gs-0.99678)*rw 1.613  g/cm Vb —‘?—E 2Ll 21 (em) 57.50
A HAASIGS SHHE (o) 58.84
3. MotE
H A 1 2 3=2-1 4=3/Ws 5 6 7=6xP2.0
- = H2A2+ | H2Al2
A EJHs [EIIRH]| o5 o o &=E MRS RE IIMENE |BEHIIIE S8
0.85mm(NO.20) 1 438 460.8 22.80 19.8% 19.8% 80.2% 54.2%
0.425mm(N0.40) 2 373.5 399.6 26.10 22.7% 42.5% 57 .5% 38.9%
0.25mm(N0.60) 3 381.4 397.0 15.60 13.6% 56.0% 44.0% 29.7%
0.106mm(NO. 140) 4 345.6 363.2 17.60 15.3% 71.3% 28.7% 19.4%
0.075mm(NO.200) 5 349.2 354.0 4.80 4.2% 75.5% 24.5% 16.6%
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HHAZe S| W) CHEAZI A (W)
N
=7 (HAZIHEA 242 349.4 g wgoneHn | 1,563.9 g
27129 753.7 o 27129 7406 g
HHAZO ZI|HESH W) 27427 g W 823.3 g
1. 2mmXl SUAI=9 &=H =3
NO 1 NO 2 NO
o 895.3 o 866. 1 W
Dw 842.0 Tw 175.2 Dw 817.7 Tw 209.2 Dw Tw
W 53.3 s 666.8 W 8.4 Ws 608.5 W Ws
W= 8.0% W= 8.0% W=
BoEAH 8.0%
2. MHAZAIZSH W) = W/ (14w) 2540 2
3. 2mi EBHEASSHMW)= W=H0-M 1 1716.9 1716.9
4. P2.0(LZ2.0mU NS IHEDHS)- W2/ WO 67.6%
5. om0l He AlZo HEA
I &g 1 2 | e=1/m0
75.0m| 1 437.10 437.10 | 0.00| 0.0% | 0.0% | 100.0%
53.0m| 2 461.90 461.9 |  0.00| 0.0% | 0.0% | 100.0%
37.5m| 3 471.60 47160 | 0.00| 0.0% | 0.0% | 100.0%
26.5m| 4 469.50 514.30 | 44.80 | 1.8% | 1.8% | 98.2%
19.0m| 5 456.80 475.80 | 19.00 | 0.7% | 2.5% | 97.5%
95m | 6 489.70 562.10 | 72.40 | 2.9% | 5.4% | 94.6%
4.75m| 7 524.00 678.90 | 154.90 | 6.1% | 11.5% | 88.5%
oom | 8 431.10 963.30 | 532.20 | 21.0% | 32.4% | 67.6%
« AXA S 823.30 g
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